

L.I. $a, b \in \mathbb{R}^{n \times 1}$ $\nexists k \in \mathbb{R}$

$\therefore a = b \cdot k$

L.I. $a, b, c \in \mathbb{R}^{n \times 1}$ $\nexists k_1, k_2 \in \mathbb{R}$

$\therefore c = k_1 \cdot a + k_2 \cdot b$

$$\left. \begin{array}{l} \dot{x} = A \cdot x \\ x = e^{rt} e \end{array} \right\} \Rightarrow \left. \begin{array}{l} (A - rI) \cdot e = 0 \\ |A - rI| = 0 \end{array} \right\} \left. \begin{array}{l} e = \dots \\ r = \dots \end{array} \right\} x = e^{rt} \cdot e$$

if multiple eigen values

$$x = t \cdot e \cdot e^{rt} + e^{rt} \cdot b$$

$$e = (A - rI) \cdot b$$

$$A = \begin{bmatrix} a & 0 \\ 0 & b \end{bmatrix}$$

$$a \neq b$$

$$\lambda_1 = a, \lambda_2 = b$$

2 L.I.

$$e_1 = [1 \ 0]^T$$

$$e_2 = [0 \ 1]^T$$

$$e^{At} = \begin{bmatrix} e^{at} & 0 \\ 0 & e^{bt} \end{bmatrix}$$

$$A = \begin{bmatrix} a & 1 \\ 0 & a \end{bmatrix}$$

$$\lambda_1 = a = \lambda_2$$

1. L.I.

$$e = [1 \ 0]^T$$

$$b = \dots$$

$$e^{At} = \begin{bmatrix} e^{at} & t e^{at} \\ 0 & e^{at} \end{bmatrix}$$

$$A = \begin{bmatrix} a & 0 \\ 0 & a \end{bmatrix}$$

$$\lambda_1 = \lambda_2 = a$$

2 L.I.

$$e_1 = [1 \ 0]^T$$

$$e_2 = [0 \ 1]^T$$

$$e^{At} = \begin{bmatrix} e^{at} & 0 \\ 0 & e^{at} \end{bmatrix}$$

$$A = \begin{bmatrix} a & b \\ -b & a \end{bmatrix}$$

$$\lambda_1 = a + bi \rightarrow e_1 = [1 \ i]^T$$

$$\lambda_2 = a - bi \rightarrow e_2 = [1 \ -i]^T$$

$$e^{At} = e^{at} \cdot \begin{bmatrix} \cos bt & \sin bt \\ -\sin bt & \cos bt \end{bmatrix}$$

$$A = \begin{bmatrix} \alpha_1 & 0 & \dots & 0 \\ 0 & \alpha_2 & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 0 & \dots & \dots & \alpha_n \end{bmatrix} \quad \lambda_1 = \alpha_1, \lambda_2 = \alpha_2, \dots$$

$n \times n$ L.I.
 $e_1 = [1 \ 0 \ 0 \ \dots \ 0]^T$
 $e_2 = [0 \ 1 \ 0 \ \dots \ 0]^T$

$$e^{At} = \begin{bmatrix} e^{\alpha_1 t} & 0 & \dots & 0 \\ 0 & e^{\alpha_2 t} & \dots & 0 \\ \vdots & \vdots & \ddots & \vdots \\ 0 & \dots & \dots & e^{\alpha_n t} \end{bmatrix} \quad e_n = [0 \ 0 \ 0 \ \dots \ 1]^T$$

$$A = \begin{bmatrix} \alpha & 1 & 0 \\ 0 & \alpha & 1 \\ 0 & 0 & \alpha \end{bmatrix} \quad \lambda_1 = \lambda_2 = \lambda_3 = \alpha$$

$$(A - \alpha I) \cdot e = 0$$

$$\begin{bmatrix} 0 & 1 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{bmatrix} \cdot \begin{bmatrix} v_1 \\ v_2 \\ v_3 \end{bmatrix} = 0$$

$$0 \cdot v_1 + 1 \cdot v_2 + 0 \cdot v_3 = 0$$

$$0 \cdot v_1 + 0 \cdot v_2 + 1 \cdot v_3 = 0$$

\perp L.I.

$$v_1 = \alpha \gamma = 1$$

$$e = [1 \ 0 \ 0]^T$$

$$e^{At} = \begin{bmatrix} e^{\alpha t} & t e^{\alpha t} & \frac{1}{2} t^2 e^{\alpha t} \\ 0 & e^{\alpha t} & t e^{\alpha t} \\ 0 & 0 & e^{\alpha t} \end{bmatrix}$$

$$A = \begin{bmatrix} \alpha & 1 & 0 \\ 0 & \alpha & 0 \\ 0 & 0 & \alpha \end{bmatrix} \quad \lambda_1 = \lambda_2 = \lambda_3 = \alpha$$

$$0 \cdot v_1 + \cancel{v_2} + 0 \cdot v_3 = 0$$

$$v_1 = \alpha y$$

$$v_2 = \alpha y$$

2 L.I.

$$e_1 = [1 \ 0 \ 0]^T \quad e_2 = [0 \ 0 \ 1]^T$$

$$e_3 = [5 \ 0 \ 6]^T \quad \text{Not a 3rd}$$

$$e_3 = 5 \cdot e_1 + 6 \cdot e_2 \quad \text{L.I.}$$

$$A = \begin{bmatrix} \alpha & 0 & 0 \\ 0 & \alpha & 1 \\ 0 & 0 & \alpha \end{bmatrix} \quad \lambda_1 = \lambda_2 = \lambda_3 = \alpha$$

$$0 \cdot v_1 + 0 \cdot v_2 + \cancel{v_3} = 0$$

$$v_1 = \alpha y, \quad v_2 = \alpha y$$

$$e_1 = \begin{bmatrix} 1 \\ 0 \\ 0 \end{bmatrix}$$

$$e_2 = \begin{bmatrix} 0 \\ 1 \\ 0 \end{bmatrix}$$

2 L.I.

$$A = \begin{bmatrix} \alpha & 1 & 0 & 0 \\ 0 & \alpha & 1 & 0 \\ 0 & 0 & \alpha & 1 \\ 0 & 0 & 0 & \alpha \end{bmatrix} \quad \lambda_1 = \lambda_2 = \lambda_3 = \lambda_4 = \alpha$$

$$0v_1 + \cancel{v_2} + 0v_3 + 0 \cdot v_4 = 0$$

$$0v_1 + 0v_2 + \cancel{v_3} + 0 \cdot v_4 = 0$$

$$0v_1 + 0v_2 + 0v_3 + \cancel{v_4} = 0$$

$$v_1 = \alpha y = 1$$

$$e = [1 \ 0 \ 0 \ 0]^T$$

1 L.I.

$$A = \begin{bmatrix} \alpha & 0 & 0 & 0 \\ 0 & \alpha & 1 & 0 \\ 0 & 0 & \alpha & 1 \\ 0 & 0 & 0 & \alpha \end{bmatrix}$$

$$\dots \quad v_3 = v_4 = 0$$

$$v_1 = \text{any}$$

$$v_2 = \text{any}$$

$$e_1 = [1 \ 0 \ 0 \ 0]^T$$

$$e_2 = [0 \ 1 \ 0 \ 0]^T$$

2 L.I.

$$A = \begin{bmatrix} \alpha & 1 & 0 & 0 \\ 0 & \alpha & 0 & 0 \\ 0 & 0 & \alpha & 1 \\ 0 & 0 & 0 & \alpha \end{bmatrix}$$

2 L.I.

$$e_1 = [1 \ 0 \ 0 \ 0]^T$$

$$e_2 = [0 \ 0 \ 1 \ 0]^T$$

$$A = \begin{bmatrix} \alpha & 1 & 0 & 0 \\ 0 & \alpha & 0 & 0 \\ 0 & 0 & \alpha & 0 \\ 0 & 0 & 0 & \alpha \end{bmatrix}$$

3 L.I.

$$e_1 = [1 \ 0 \ 0 \ 0]^T$$

$$e_2 = [0 \ 0 \ 1 \ 0]^T$$

$$e_3 = [0 \ 0 \ 0 \ 1]^T$$

$$A = \begin{bmatrix} \alpha & 0 & 0 & 0 \\ 0 & \alpha & 0 & 0 \\ 0 & 0 & \alpha & 0 \\ 0 & 0 & 0 & \alpha \end{bmatrix}$$

4 L.I.

$$A = \begin{bmatrix} a & & & & \\ & a & & & \\ & & a & & \\ & & & \ddots & \\ & & & & a \end{bmatrix}$$

→ 1 or 0

of zeros =
how many +1
L.I.

$$A_1 = \begin{bmatrix} a & b & 0 & 0 \\ -b & a & 0 & 0 \\ 0 & 0 & a & b \\ 0 & 0 & -b & a \end{bmatrix}, A_1 = \begin{bmatrix} B & 0 \\ 0 & B \end{bmatrix}, B = \begin{bmatrix} a & b \\ -b & a \end{bmatrix}$$

4. L.I.

$$A_2 = \begin{bmatrix} a & b & 1 & 0 \\ -b & a & 0 & 1 \\ 0 & 0 & a & b \\ 0 & 0 & -b & a \end{bmatrix}, A_2 = \begin{bmatrix} B & I \\ 0 & B \end{bmatrix} \quad 2 \text{ L.I.}$$

1. $e_1 = [1 \ i \ 0 \ 0]$, $e_2 = [1 \ -i \ 0 \ 0]$

$e_3 = [0 \ 0 \ 1 \ i]$, $e_4 = [0 \ 0 \ 1 \ -i]$

2. $e_1 = [1 \ i \ 0 \ 0]$, $e_2 = [1 \ -i \ 0 \ 0]$

$e_3 = e_1$

$e_4 = e_2$

$$A_1 = \begin{bmatrix} -1 & 0 & 0 & 0 \\ 0 & -2 & 0 & 0 \\ 0 & 0 & -3 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

4 L.I.

$$A_2 = \begin{bmatrix} -1 & 0 & 0 & 0 \\ 0 & -1 & 0 & 0 \\ 0 & 0 & -3 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

~~4~~ 4 L.I.

$$A_3 = \begin{bmatrix} -1 & 1 & 0 & 0 \\ 0 & -1 & 0 & 0 \\ 0 & 0 & -3 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

3 L.I.

$$A_4 = \begin{bmatrix} -1 & 0 & 0 & 0 \\ 0 & -2 & 0 & 0 \\ 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

4 L.I.

$$A_5 = \begin{bmatrix} -1 & 0 & 0 & 0 \\ 0 & -2 & 1 & 0 \\ 0 & 0 & -1 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

3 L.I.

$$A = \begin{bmatrix} -1 & 1 & 0 & 0 \\ -1 & 1 & 0 & 0 \\ 0 & 0 & 3 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

4 L.I

$$A = \begin{bmatrix} -1 & 1 & 0 & 0 \\ -1 & 1 & 0 & 0 \\ 0 & 0 & -1 & 1 \\ 0 & 0 & -1 & 1 \end{bmatrix}$$

4 L.I.

$$A = \begin{bmatrix} -1 & 1 & 1 & 0 \\ -1 & 1 & 0 & 1 \\ 0 & 0 & -1 & 1 \\ 0 & 0 & -1 & 1 \end{bmatrix}$$

2 L.I

$$A = \begin{bmatrix} -1 & 1 & 3 & 0 \\ -1 & 1 & 0 & 3 \\ 0 & 0 & -3 & 0 \\ 0 & 0 & 0 & -4 \end{bmatrix}$$

$$\dot{X} = A \cdot X + B \cdot u$$

$$Y = C \cdot X + D \cdot u$$

$$X \in \mathbb{R}^{n \times 1} \rightarrow A \in \mathbb{R}^{n \times n}$$

$$u \in \mathbb{R}^{p \times 1} \rightarrow B \in \mathbb{R}^{n \times p}$$

$$Y \in \mathbb{R}^{q \times 1} \rightarrow C \in \mathbb{R}^{q \times n}$$

(31)

"Better" S.S. model?

Similarity transformation

$$\begin{matrix} X = T \cdot Z & \xrightarrow{T = \text{const.}} & \dot{X} = T \cdot \dot{Z} \\ \downarrow & & \\ n \times 1 & & n \times 1 \\ & & \downarrow \\ & & n \times n \end{matrix}$$

$$T \text{ inv} \quad Z = T^{-1} \cdot X \Rightarrow \dot{Z} = T^{-1} \cdot \dot{X}$$

$$T \cdot \dot{Z} = A \cdot T \cdot Z + B \cdot u$$

$$\dot{Z} = \underbrace{T^{-1} \cdot A \cdot T}_{\substack{\downarrow \\ n \times n \\ \hat{A}}} Z + \underbrace{T^{-1} \cdot B}_{\substack{\downarrow \\ n \times p \\ \hat{B}}} u$$

$$\boxed{\dot{Z} = \hat{A} \cdot Z + \hat{B} \cdot u}$$

$$\hat{A} = T^{-1} \cdot A \cdot T$$

$$\hat{B} = T^{-1} \cdot B$$

$$\hat{C} = C \cdot T$$

$$C = \hat{C} \cdot T^{-1}$$

$$B = T \cdot \hat{B}$$

$$A = T \cdot \hat{A} \cdot T^{-1}$$

$$Y = C \cdot X + D \cdot u$$

$$= \underbrace{C \cdot T}_{\hat{C}} Z + \underbrace{D}_{\hat{D}} u$$

$$\boxed{Y = \hat{C} \cdot Z + \hat{D} \cdot u}$$

$$|A - \lambda I| = 0$$

$$|\hat{A} - \lambda I| = 0$$

$$|T^{-1} \cdot A \cdot T - \lambda T^{-1} \cdot T| = 0$$

$$|T^{-1} \cdot A \cdot T - \lambda \cdot T^{-1} \cdot I \cdot T| = 0$$

$$|T^{-1} \cdot (A - \lambda I) \cdot T| = 0$$

$$~~|T^{-1}| \cdot |A - \lambda I| \cdot ~~|T|~~ = 0~~$$

$$|A - \lambda I| = 0$$

$$G_x = C \cdot (sI - A)^{-1} \cdot B$$

↓

$$G_z = \hat{C} \cdot (sI - \hat{A})^{-1} \cdot \hat{B}$$

$$G_x = C \cdot I \cdot (sI - A)^{-1} \cdot I \cdot B$$

$$= \underbrace{C \cdot T \cdot T^{-1}} \cdot (sI - A)^{-1} \cdot T \cdot \underbrace{T^{-1} \cdot B}$$

$$\hat{C} \cdot T^{-1} \cdot (sI - A)^{-1} \cdot T \cdot \hat{B}$$

I want $(sI - \hat{A})^{-1} = T^{-1} \cdot (sI - A)^{-1} \cdot T$

$$T^{-1} \cdot (sI - A)^{-1} \cdot T = (sI - \hat{A})^{-1}$$

$$(s \overbrace{T^{-1} \cdot I \cdot T} - \overbrace{T^{-1} \cdot A \cdot T})$$

$$(T^{-1} (sI - A) \cdot T)^{-1}$$

$$T^{-1} (sI - A)^{-1} \cdot T$$

$$A = T \cdot \hat{A} \cdot T^{-1}$$

$$e^{At} \quad \rightarrow \quad e^{\hat{A}t}$$

$$e^{At} = I + At + \frac{(At)^2}{2!} + \frac{(At)^3}{3!} + \dots$$

$$= I + T \cdot \hat{A} \cdot T^{-1} \cdot t + \frac{(T \cdot \hat{A} \cdot T^{-1})^2 \cdot t^2}{2!} + \dots$$

$$(T \cdot \hat{A} \cdot T^{-1})^2 = (T \cdot \hat{A} \cdot T^{-1}) \cdot (T \cdot \hat{A} \cdot T^{-1})$$

$$= T \cdot \hat{A}^2 \cdot T^{-1}$$

$$I = T \cdot I \cdot T^{-1}$$

$$e^{At} = T \cdot I \cdot T^{-1} + T \hat{A} T^{-1} \cdot t + \frac{T \cdot \hat{A}^2 \cdot T^{-1} \cdot t^2}{2!} + \dots$$

$$= T \cdot (I + \hat{A}t + \frac{\hat{A}^2 t^2}{2!} + \dots) T^{-1}$$

$$= T e^{\hat{A}t} T^{-1}$$

$$\dot{x} = Ax + Bu$$

$$y = C \cdot x$$

$$x = T \cdot z$$

$$T = z$$

$$\hat{A} = \begin{bmatrix} a & 0 \\ 0 & b \end{bmatrix}$$

$$A = \begin{bmatrix} a & 0 \\ 0 & a \end{bmatrix}$$

$$A = \begin{bmatrix} \alpha & 1 \\ 0 & \alpha \end{bmatrix}$$

$$\vec{A} = \begin{bmatrix} a & b \\ -b & a \end{bmatrix}$$

$$\dot{z} = \vec{A}z + Bu$$

$$y = C \cdot x$$

$$T = ?$$

$$e^{\hat{A}t}$$

$$e^{At} = T \cdot e^{\vec{A}t} \cdot T^{-1}$$

$A \begin{cases} \rightarrow a \Rightarrow \lambda_1 \\ \rightarrow b \Rightarrow \lambda_2 \end{cases} \quad a \neq 0$

$(A - \lambda I) e_i = 0$

$A \cdot e_1 = \lambda_1 \cdot e_1$

$A \cdot e_2 = \lambda_2 \cdot e_2$



$A \cdot [e_1 \quad e_2] = [e_1 \quad e_2] \cdot \begin{bmatrix} \lambda_1 & 0 \\ 0 & \lambda_2 \end{bmatrix}$

(Dimensions: $n \times n$, $n \times 2$, 2×2)

$A \cdot T = T \cdot \begin{bmatrix} \lambda_1 & 0 \\ 0 & \lambda_2 \end{bmatrix}, \quad T = [e_1 \quad e_2]$

$AT = T \cdot \Lambda$

$AT = T \cdot \hat{A}$

$A = T \cdot \hat{A} \cdot T^{-1}$